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1p 15 Which of the following fits the gap in paragraph 5? 
A its own sake 
B mutual growth 
C romantic reasons 
D their personal gain 
 

1p 16 What is the point made in paragraph 6? 
A Finding out whether you can rely on the discretion of co-workers can 

be a tricky business. 
B It can be painful when there is confusion between colleagues about 

friendship expectations. 
C You will appreciate your job better if you succeed at making friends in 

the workplace. 
 

1p 17 Which of the following explains what is meant by “This confusion” 
(paragraph 7)? 
A “The breaking of trust and even the telling of lies are more acceptable 

to us than being ignored” (paragraph 3) 
B “Friends have become a special kind of social currency that we use to 

demonstrate our popularity.” (paragraph 4) 
C “we’re becoming increasingly baffled about who our true companions 

are and what we can expect from them” (paragraph 4) 
D “the sort of companionship to which we all aspire, even if we don’t 

realize it” (paragraph 5) 
E “If we also see them as a utilitarian friend, neither of us is likely to go 

home upset.” (paragraph 6) 
 

1p 18 Which of the following fits the gap in paragraph 7? 
A And 
B For 
C So 
D Yet 
 
“Better to have loved and lost, than never to have loved at all” (titel) 

1p 19 Citeer de eerste twee woorden van de zin in deze tekst die met andere 
woorden dezelfde gedachte weergeeft. 
 
 

Tekst 7  Britain’s sorry struggle with the shale revolution 

 
1p 20 What becomes clear about Great Britain in paragraph 1? 

A It has made little progress in finding and extracting shale gas. 
B It has tried to suppress safety concerns about shale gas projects. 
C It is being accused of hindering commercial shale gas mining. 
D It prefers offshore shale gas activities over initiatives on land. 
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2p 21 Geef van de volgende beweringen aan of deze overeenkomen met alinea 
2 en 3. 
Noteer “wel” of “niet” achter elk nummer op het antwoordblad. 
1 Er is veel schaliegas in de bodem van Groot-Brittannië. 
2 Het energieverbruik in Groot-Brittannië is de laatste jaren enorm 

gestegen. 
3 Het winnen van schaliegas in dichtbevolkte gebieden kan tot 

gevaarlijke situaties voor de bewoners leiden. 
4 Bedrijven die aan schaliegaswinning willen doen, moeten daarvoor 

een vergunning aanvragen bij de lokale overheid. 
 

1p 22 Which of the following fits the gap in paragraph 5? 
A dependable 
B hypocritical 
C inflexible 
 

1p 23 How does the American situation differ from the British situation, 
according to paragraph 6? 
In Britain 
A people are not entitled to ask money for shale reserves that are found 

underneath their land. 
B suing shale gas companies will not result in substantial payments to 

individuals. 
C the government is eager to facilitate financial settlements for shale 

drilling concessions. 
D the security procedures make the extraction of shale gas near 

settlements too expensive. 
 

1p 24 What conclusion does paragraph 7 lead up to? 
A Communities that refuse to allow mining activities should not share in 

shale gas profits. 
B The government should negotiate about details instead of local 

authorities. 
C The issue of financially rewarding residents should be integrated into 

policy making. 
D The national regulations for handling shale gas incidents should be 

simplified. 
 
“Britain needs a shale revolution.” (alinea 8) 

1p 25 In welke alinea wordt voor het eerst uitgelegd dat dit in het landsbelang 
is? 
Noteer het nummer van deze alinea. 
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1p 26 Which of the following aspects related to shale gas drilling is not 
discussed in this text? 
A its disruptive effect on the public 
B its economic importance 
C its financial implications 
D its impact on the environment 
 
 

Tekst 8  Life at the extreme 

 
1p 27 How does the writer view the “basic units of measurement in tellyland” 

(paragraph 1) judging from the tone of this paragraph? 
A as colourful 
B as educational 
C as inaccurate 
D as simplistic 
 

1p 28 What is the point made by Christopher Stevens about Davina McCall’s use 
of “Bolts” in paragraph 2? 
According to Stevens she uses it 
A to help viewers better appreciate the ecological impact of insects. 
B to make an unremarkable insect appear more spectacular. 
C to make clear why she is fascinated by a particular insect. 
D to stress how much research into insects her show involves. 
 
Om een artikel te verlevendigen kan een schrijver gebruikmaken van 
verschillende stijlfiguren, zoals: 
a eufemisme 
b paradox 
c terzijde 
d vergelijking 

1p 29 Geef van de citaten uit de tekst aan van welke van de bovenstaande 
stijlfiguren ze een voorbeeld zijn. 
Noteer de letter van de stijlfiguur achter het nummer op het antwoordblad. 
Let op: je mag elke stijlfiguur slechts één keer gebruiken, dus er blijven 
twee stijlfiguren over. 
1 “though doing so would actually be a serious criminal offence” 

(alinea 1)  
2 “like Speedy Gonzales after three cups of black coffee” (alinea 2)  
 

1p 30 What becomes clear about Christopher Stevens from paragraph 3? 
A He dislikes serious programmes that are presented by women. 
B He is annoyed by the superficiality of Davina McCall and her show. 
C He is unhappy because David Attenborough supports Davina McCall. 
 


